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Exorcise BN
Use the binomial theorem to expand each expression.
1 (yp+3yF 2 2b-1) 3 (Ba+2¥ 4

5 (x+y)f 6 (3a-28F 7 (3¢+ 3} 8

Exercise 60
1 Find the 2% term in the expansion of (x~ 4Y

L ERAM-STULE BUEBTIONS

2 Find the y* term in the expansion of (4y -~ 1)°
3 Find the 4 term in the expansion of {2¢ - 35)¢

4 Find the constant term in the expansion of {x - 2ff

5 In the expansion of {px + 1)5, the coefficient of the £ term is 160,

Find the value of p.

6 In the expansion of {3x + g¥, the coefficient of the »* term is 81 648,
Find the value of q.

EXAM-STYULE QUERTION : 0
7 Find the constant term in the expansion of 'iz;?.x += ,;
x

*

. . , b
8 Find the constant term in the expansion of {Zx - % |

- ERAM-STULE QUESTION

g9 Inthe expansion of {x + 1Y, the coefficient of the ¥ term i
two times the coefficient of the s° term., Find the valueof .




Exercise SN AnSwess
1 3+ 154+ 90" + 2700
+ 405y + 243
2 168 - 325 + 245 - 8b + 1
3 729¢° +2916a° = 48604
+4320a° + 21600 +576a +64

4 x'+62 +12+—§;
X

5 x'+Bxy+28x"y’ +561"y
+10x*y" + 562"y + 28273
+8xy =y

6§ Bla'-216a°b+216a°F
~Qpah’ +168

7 g, B0, 108061 7200
d £

240 32
e - s

FAR: o

Exercise 60 Answa—
1 336

~1280y*
4860475

~512
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17920
4860
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